# Convergence Results for Mean Nonexpansive Mappings in Uniformly Convex Banach Space

OMPRAKASH SAHU<sup>1</sup>, AMITABH BANERIEE<sup>2</sup> and NIYATI GURUDWAN <sup>3</sup>

ABSTRACT. In this paper, we establish weak and strong convergence theorems for mean nonexpansive mappings in Banach space under the M-iteration process.

## 1. Introduction

Let Y be a Banach Space and  $\emptyset \neq W \subseteq Y$ . Consider the selfmap  $S:W \to W$ . An element  $e_0 \in W$  is called a fixed point if

$$Se_0 = e_0$$

The set of all fixed points of S is denoted by F(S). Fixed point theory has always an important role in the field of analysis. The Banach contraction principle is a milestone in the fixed point theory. It always inspires researchers to obtain fixed points of different mappings over different spaces. Fixed point problems possess either an existing problem or an approximate scheme. Over the years, researchers have developed many iterative schemes to obtain approximate solutions to fixed point problems for different mappings or operators over different spaces. In 1953 Mann [10] introduced an iterative scheme. Let  $S:W\to W$  be any nonlinear mapping. For each  $p_0\in W$ , the sequence  $\{p_n\}$  in W is defined by

$$\begin{cases}
p_0 \in W \\
p_{n+1} = (1 - \alpha_n)p_n + \alpha_n S p_n.
\end{cases}$$
(1.1)

where  $\alpha_n \in [0,1]$ .

Later Agarwal et al.[1] introduced an iteration process, also called S-iteration process, is defined as: Let  $S:W\to W$  be any nonlinear mapping. For each  $p_0\in W$ , the sequence  $\{p_n\}$  in W is defined by

$$\begin{cases} p_0 \in W \\ q_n = (1 - \beta_n)p_n + \beta_n S p_n \\ p_{n+1} = (1 - \alpha_n)S p_n + \alpha_n S q_n. \end{cases}$$

$$(1.2)$$

where  $\alpha_n, \beta_n \in [0, 1]$ 

2014, Gursoy and Karakaya [7] introduced a new iteration process called the Picard-S iteration process. Let  $S:W\to W$  be any nonlinear mapping. For each  $p_0\in W$ , the

Received: 16.07.2022. In revised form: 07.03.2023. Accepted: 14.03.2023

2020 Mathematics Subject Classification. 47H09, 47H10.

Key words and phrases. Fixed Point, Uniformly convex Banach space, Mean Nonexpansive mapping.

Corresponding author: Omprakash Sahu; om2261995@yahoo.com

sequence  $\{p_n\}$  in W is defined by

$$\begin{cases}
p_0 \in W \\
r_n = (1 - \beta_n)p_n + \beta_n S p_n \\
q_n = (1 - \alpha_n)S p_n + \alpha_n S r_n \\
p_{n+1} = S q_n
\end{cases}$$
(1.3)

where  $\alpha_n, \beta_n \in [0, 1]$ . They proved that the Picard-S iteration process converges faster than all Picard, Mann, and Ishikawa iteration Processes.

In 2015, Thakur et, al.[15] used a new iteration process, defined as; let  $S: W \to W$  be any nonlinear mapping. For each  $p_0 \in W$ , the sequence  $\{p_n\}$  in W is defined by

$$\begin{cases}
p_0 \in W \\
r_n = (1 - \beta_n)p_n + \beta_n S p_n \\
q_n = T((1 - \alpha_n)p_n + \alpha_n r_n) \\
p_{n+1} = S q_n.
\end{cases}$$
(1.4)

where  $\alpha_n, \beta_n \in [0, 1]$ 

In 2018 Ullah et. al. [16] introduced a new three-step iteration process Known as the "M-Iteration Process", defined as let  $S:W\to W$  be any nonlinear mapping. For each  $p_0\in W$ , the sequence  $\{p_n\}$  in W is defined by

$$\begin{cases}
p_0 \in W \\
r_n = (1 - \alpha_n)p_n + \alpha_n S p_n \\
q_n = S r_n \\
p_{n+1} = S q_n
\end{cases}$$
(1.5)

where  $\alpha_n \in [0,1]$ 

Ullah et al. [16] provided the weak and strong convergence of the M-iteration Scheme, for the class of Generalized nonexpansive mapping. In this paper, using the M-Iteration scheme with the class of mean nonexpansive mappings, and in this way, we extend his results in the more general setting of mean nonexpansive mappings.

### 2. Preliminaries

In this section we shall discuss some definitions and results to be used in the main results:

**Definition 2.1.** [6] A Banach space Y is called uniformly convex if for each  $\epsilon \in (0,2]$  there is a  $\delta > 0$  such that  $p,q \in Y$ 

$$\begin{cases} ||p|| \le 1, \\ ||q|| \le 1, \\ ||p-q|| \ge \epsilon \end{cases} \Rightarrow ||\frac{p+q}{2}|| \ge \delta.$$

**Definition 2.2.** [12] A Banach space Y is said to satisfy the Opial's property if any weakly convergent sequence  $p_m$  in Y which admits a weak limit  $c \in Y$ , one has

$$\limsup_{m \to \infty} ||p_m - c|| < \limsup_{m \to \infty} ||p_m - c'||$$

for each  $c' \in Y - \{c\}$ .

**Definition 2.3.** [14] Suppose  $W \neq \emptyset$  is any subset of a Banach space Y. A self map  $S: W \to W$  is said to be endowed with the condition I if and only if a function  $L: [0, \infty) \to [0, \infty)$  exists such that L(0) = 0 and L(r) > 0 for all r > 0 and  $||p - Sp|| \ge L(d(p, F_s))$  for each  $p \in W$ .

In 1975 Zhang[20] introduced and studied the class of mean nonexpansive mappings in Banach spaces, he proved the unique existence of fixed points for this class of mappings in Banach spaces with normal structure. Zhang[20] provided the following class of mappings.

**Definition 2.4.** [20] Let  $W \neq \emptyset$  be a subset of a Banach space. A self-map  $S: W \to W$  is called mean nonexpansive if for all  $p, q \in W$  there are non-negative real numbers a, b such that  $a + b \leq 1$ , we have

$$||Sp - Sq|| \le a||p - q|| + b||p - Sq||.$$

**Lemma 2.1.** [13] Let Y be a uniformly convex Banach space and  $0 < u \le t_n \le v < 1 \ \forall n \in N$ . Let  $\{p_n\}$  and  $\{q_n\}$  be two sequences of Y s.t.  $\limsup_{n\to\infty}||p_n||\le a$ ,  $\limsup_{n\to\infty}||q_n||\le a$  and  $\limsup_{n\to\infty}||t_np_n+(1-t_n)q_n||=a$  hold for some  $a\ge 0$ . Then  $\lim_{n\to\infty}||p_n-q_n||=0$ .

**Lemma 2.2.** [2] If S is a self map and mean nonexpansive on a subset  $W \neq \emptyset$  of a Banach Space Y. Then F(S) is closed, Moreover, if Y is strictly convex and W is convex, then F(S) is also convex.

**Lemma 2.3.** [21] Let S be a mean nonexpansive mapping of the Banach space Y. If S is continuous and a + b < 1, then S has a unique fixed point.

**Theorem 2.1.** [21] Let W be a nonempty closed subset of Banach space Y and S a mean nonexpansive self-mapping on W. If  $a + 2b \le 1$  and b > 0, then S has a unique fixed point.

**Theorem 2.2.** [21] Let Y be a real reflexive Banach space which satisfies Opial's condition, W a nonempty bounded closed convex subset of Y, and  $S:W\to W$  a mean nonexpansive. Then S has a fixed point.

**Theorem 2.3.** [21] Let  $W \neq \emptyset$  be a subset of a reflexive Banach space Y having Opial property. Let  $S: W \to W$  be a mean nonexpansive mapping. If  $\{p_n\} \subseteq W$  be such that

- (1)  $\{p_n\}$  converges weakly to  $e_0$
- (2)  $\lim_{n\to\infty} ||Sp_n p_n|| = 0$

then  $e_0 = Se_0$ .

**Corollary 2.1.** [21] Let W be a bounded closed convex subset of Banach space Y and S a mean nonexpansive self-mapping on W. Then S has an approximate fixed point sequence in W.

# 3. Main results

In this section, we establish convergence theorems using M- iteration process (1.5). To prove this, the following Lemma are needed.

**Lemma 3.4.** Let  $W \neq \emptyset$  be a convex closed subset of a Uniformly Convex Banach Space Y and  $S: W \to W$  be a mean nonexpansive mapping with  $F(S) \neq \emptyset$ . Assume that  $\{p_n\}$  is a sequence defined by M-iteration process (1.5). Then  $\lim_{n\to\infty} ||p_n-e_0||$  exist for each  $e_0\in F(S)$ .

*Proof.* Let  $e_0 \in F(S)$ . Then using M-iteration Process, we have

$$||r_{n} - e_{0}|| = ||(1 - \alpha_{n})p_{n} + \alpha_{n}Sp_{n} - e_{0}||$$

$$\leq (1 - \alpha_{n})||p_{n} - e_{0}|| + \alpha_{n}||Sp_{n} - e_{0}||$$

$$= (1 - \alpha_{n})||p_{n} - e_{0}|| + \alpha_{n}||Sp_{n} - Se_{0}||$$

$$\leq (1 - \alpha_{n})||p_{n} - e_{0}|| + \alpha_{n}(a||p_{n} - e_{0}|| + b||p_{n} - Se_{0}||)$$

$$= (1 - \alpha_{n})||p_{n} - e_{0}|| + \alpha_{n}(a + b)||p_{n} - e_{0}||$$

$$\leq (1 - \alpha_{n})||p_{n} - e_{0}|| + \alpha_{n}||p_{n} - e_{0}||$$

$$= ||p_{n} - e_{0}||$$
(3.6)

and so

$$||q_{n} - e_{0}|| = ||Sr_{n} - e_{0}||$$

$$\leq a||r_{n} - e_{0}|| + b||r_{n} - Se_{0}||$$

$$= (a+b)||r_{n} - e_{0}||$$

$$\leq ||r_{n} - e_{0}||$$
(3.7)

This implies that

$$||p_{n+1} - e_0|| = ||Sq_n - e_0||$$

$$\leq a||q_n - e_0|| + b||q_n - Se_0||$$

$$= (a+b)||q_n - e_0||$$

$$\leq ||q_n - e_0||$$
(3.8)

From equation (3.6), (3.7) and (3.8), we obtain

$$||p_{n+1} - e_0|| \le ||p_n - e_0|| \tag{3.9}$$

It follows that  $\{||p_n-e_0||\}$  is non-increasing and bounded. Hence  $\lim_{n\to\infty}||p_n-e_0||$  exist.

**Lemma 3.5.** Let  $W \neq \emptyset$  be a convex closed subset of a Uniformly Convex Banach Space Y and  $S: W \to W$  be a mean nonexpansive mapping with  $F(S) \neq \emptyset$ . Assume that  $\{p_n\}$  is a sequence defined by M – iteration process (1.5). Consequently  $\{p_n\}$  is bounded in Y with the property  $\lim_{n\to\infty} ||Sp_n - p_n|| = 0$ .

*Proof.* Let  $e_0 \in F(S)$ . Using Lemma 3.4, we have  $\lim_{n\to\infty} ||p_n - e_0||$  exist and  $\{p_n\}$  is bounded. Suppose that

$$\lim_{n \to \infty} ||p_n - e_0|| = a$$

Case I: a = 0, we are done.

**Case II**: a > 0, From equation (3.6) in Lemma 3.4, we have

$$||r_n - e_0|| \le ||p_n - e_0||$$

$$\Rightarrow \limsup_{n \to \infty} ||r_n - e_0|| \le \limsup_{n \to \infty} ||p_n - e_0|| = a$$
(3.10)

Now

$$||Sp_{n} - e_{0}|| = ||Sp_{n} - Se_{0}||$$

$$\leq a||p_{n} - e_{0}|| + b||p_{n} - Se_{0}||$$

$$= (a+b)||p_{n} - e_{0}||$$

$$\leq ||p_{n} - e_{0}||$$
(3.11)

It follows that

$$\lim \sup_{n \to \infty} ||Sp_n - e_0|| \le \lim \sup_{n \to \infty} ||p_n - e_0|| = a$$

Using Lemma 3.4

$$||p_{n+1} - e_0|| \le ||r_n - e_0||$$

It follows that

$$a \le \liminf_{n \to \infty} ||r_n - e_0|| \tag{3.12}$$

From equation (3.10) and (3.12), we obtain

$$a = \lim_{n \to \infty} ||r_n - e_0||$$

$$= \lim_{n \to \infty} ||(1 - \alpha_n)p_n + \alpha_n Sp_n - e_0||$$

$$= \lim_{n \to \infty} ||(1 - \alpha_n)(p_n - e_0) + \alpha_n (Sp_n - e_0)||$$

By Lemma 2.1

$$\lim_{n \to \infty} ||Sp_n - p_n|| = 0$$

**Theorem 3.4.** Let  $W \neq \emptyset$  be a convex closed subset of a Uniformly Convex Banach Space Y and  $S: W \to W$  be a mean nonexpansive mapping with  $F(S) \neq \emptyset$ . Assume that  $\{p_n\}$  is a sequence defined by M – iteration process (1.5). If Y has the Opial property, then  $\{p_n\}$  converges weakly to a point of F(S).

*Proof.* By Lemma 3.5, the sequence  $\{p_n\}$  is bounded and  $\lim_{n\to\infty}||Sp_n-p_n||=0$ . Since Y is Uniformly Convex Banach Space, it follows that Y is Reflexive Banach space. Thus there exists a weakly convergent subsequence  $\{p_{n_i}\}$  of  $\{p_n\}$  with some weak limit  $q_1\in W$ . By Theorem 2.3,  $q_1\in F(S)$ . Next we have to show that  $\{p_n\}$  is weakly convergent to  $q_1$ . We may suppose that  $\{p_n\}$  is not weakly convergent to  $q_1$ , that is, there exists a weakly convergent subsequence  $\{p_{n_j}\}$  of  $\{p_n\}$  with a weak limit  $q_2\in W$  and  $q_2\neq q_1$ . Again applying Theorem 2.3,  $\{q_2\}\in F(S)$ . By applying Opial's condition and using Lemma 3.4, it follows that

$$\lim_{n \to \infty} ||p_n - q_1|| = \lim_{i \to \infty} ||p_{n_i} - q_1||$$

$$< \lim_{i \to \infty} ||p_{n_i} - q_2||$$

$$= \lim_{n \to \infty} ||p_n - q_2||$$

$$= \lim_{j \to \infty} ||p_{n_j} - q_2||$$

$$< \lim_{j \to \infty} ||p_{n_j} - q_1||$$

$$= \lim_{n \to \infty} ||p_n - q_1||.$$

Which is contradiction, so  $q_1 = q_2$ . Thus  $\{p_n\}$  converges weakly to  $q_1 \in F(S)$ .

**Theorem 3.5.** Let  $W \neq \emptyset$  be a convex closed subset of a Uniformly Convex Banach Space Y and  $S: W \to W$  be a mean nonexpansive mapping with  $F(S) \neq \emptyset$ . Assume that  $\{p_n\}$  is a sequence defined by M – iteration process (1.5). If W is compact, then  $\{p_n\}$  converges strongly to an element of F(S).

*Proof.* Since W is compact and  $\{p_n\} \subseteq W$ . So we can choose a strongly convergent subsequence  $\{p_{n_k}\}$  of  $\{p_n\}$  such that  $p_{n_k} \to u$ . Now we show that Su = u. For this

$$\begin{split} ||u-Su|| &\leq ||u-p_{n_k}|| + ||p_{n_k} - Sp_{n_k}|| + ||Sp_{n_k} - Su|| \\ &\leq ||u-p_{n_k}|| + ||p_{n_k} - Sp_{n_k}|| + (a||p_{n_k} - u|| + b||u - Sp_{n_k}||) \\ &\leq ||u-p_{n_k}|| + ||p_{n_k} - Sp_{n_k}|| + (a||p_{n_k} - u|| + b||u - p_{n_k}|| + b||p_{n_k} - Sp_{n_k}||) \\ &= (a+b+1)||u-p_{n_k}|| + (b+1)||p_{n_k} - Sp_{n_k}|| \end{split}$$

Consequently

$$||u - Su|| \le (a + b + 1)||u - p_n|| + (b + 1)||p_n| - Sp_n||$$
 (3.13)

According to Lemma 3.5,  $\lim_{k\to\infty} ||p_{n_k} - Sp_{n_k}|| = 0$ , so taking  $k\to\infty$ , from (3.13) implies Su=u. This shows that  $u\in F(S)$ . By Lemma 3.4,  $\lim_{n\to\infty} ||p_n-u||$  exists. Consequently, u is the strong limit of  $\{p_n\}$  and element of F(S).

The strong convergence theorem without the compactness assumption is established as follows

**Theorem 3.6.** Let  $W \neq \emptyset$  be a convex closed subset of a Uniformly Convex Banach Space Y and  $S: W \to W$  be a mean nonexpansive mapping with  $F(S) \neq \emptyset$ . Assume that  $\{p_n\}$  is a sequence defined by M – iteration process (1.5). Then  $\{p_n\}$  converges strongly to an element of F(S) if and only if  $\lim\inf_{n\to\infty}d(p_n,F(S))=0$ , where  $d(p,F(S))=\inf\{||p-e_0||:e_0\in F(S)\}$ .

*Proof.* Let  $\{p_n\}$  converges to  $e_0$ , then  $\lim_{n\to\infty} d(p_n,e_0)=0$ . It follows that  $\lim_{n\to\infty} d(p_n,F(S))=0$ . Therefore,  $\liminf_{n\to\infty} d(p_n,F(S))=0$ .

**Conversely**: Suppose that  $\liminf_{n\to\infty} d(p_n,F(S))=0$  and  $e_0\in F(S)$ . From the Lemma 3.4,  $\lim_{n\to\infty} ||p_n-e_0||$  exists. Therefore  $\lim_{n\to\infty} d(p_n,F(S))=0$ , by assumption. We prove that  $\{p_n\}$  is a Cauchy sequence in W. As  $\lim_{n\to\infty} d(p_n,F(S))=0$ , for a given  $\epsilon>0$ , there exists  $r_0\in N$  such that for each  $m\geq r_0$ .

$$d(p_n, F(S)) < \frac{\epsilon}{2} \Rightarrow \inf\{||p_n - e_0|| : e_0 \in F(S)\} < \frac{\epsilon}{2}$$
(3.14)

In particular  $\inf\{||p_{r_0}-e_0||:e_0\in F_s\}<\frac{\epsilon}{2}$ . Therefore there exists  $e_0\in F(S)$  such that

$$||p_{r_0} - e_0|| < \frac{\epsilon}{2} \tag{3.15}$$

Now for  $r, n \geq k_0$ ,

$$||p_{n+r} - p_n|| \ge ||p_{n+r} - e_0|| + ||p_n - e_0||$$

$$\le ||p_{r_0} - e_0|| + ||p_{r_0} - e_0||$$

$$= 2||p_{r_0} - e_0|| < \epsilon$$
(3.16)

This shows that  $\{p_n\}$  is a Cauchy sequence in W. As W is closed subset of a Banach Space Y, so there exists a point  $e_0 \in W$  such that  $\lim_{n \to \infty} p_n = e_0$ . Now  $\lim_{n \to \infty} d(p_n, F(S)) = 0$  gives that  $d(e_0, F(S)) = 0$ . Since From Lemma 2.2, we have have the set F(S) a closed set in W. Hence  $e_0 \in F(S)$ .

**Theorem 3.7.** Let  $W \neq \emptyset$  be a convex closed subset of a Uniformly Convex Banach Space Y and  $S: W \to W$  be a mean nonexpansive mapping with  $F(S) \neq \emptyset$ . Assume that  $\{p_n\}$  is a sequence defined by M – iteration process (1.5). If S is endowed with condition (I), then  $\{p_n\}$  converges strongly to an element of F(S).

Proof. From Lemma 3.5, we have

$$\lim_{n \to \infty} ||Sp_n - p_n|| = 0. {(3.17)}$$

From Condition (I) and equation (3.17), we have

$$\lim_{n \to \infty} L(d(p_n, F(S))) \le \lim_{n \to \infty} ||p_n - Sp_n||$$

$$\Rightarrow \lim_{n \to \infty} L(d(p_n, F(S))) = 0.$$

Since  $L:[0,\infty)\to [0,\infty)$  is a non decreasing function satisfying L(0)=0 and L(r)>0 for all  $r\in (0,\infty)$ , therefore, we have

$$\lim_{n \to \infty} d(p_n, F(S)) = 0.$$

By Theorem 3.6, the sequence  $\{p_n\}$  strongly converges to a fixed point of F(S).

### 4. EXAMPLE

In this section, we discuss the examples of a mean nonexpansive mapping. Here it is illustrated that a mean nonexpansive mapping is not necessarily nonexpansive.

**Example 4.1.** [5] Let  $S:[0,1] \rightarrow [0,1]$  be a mapping defined by

$$S(p) = \begin{cases} \frac{1}{4}, & p \in [0, \frac{1}{2}] \\ \frac{1}{8}, & p \in (\frac{1}{2}, 1) \\ 0, & p = 1 \end{cases}$$

Then S is mean nonexpansive with  $a=b=\frac{1}{2}$ , but S is not continuous. Therefore S cannot be a nonexpansive mapping.

**Example 4.2.** Let  $S:[0,1] \rightarrow [0,1]$  be a mapping defined by

$$S(p) = \begin{cases} \frac{p}{7}, & p \in [0, \frac{1}{2}) \\ \frac{p}{8}, & p \in [\frac{1}{2}, 1] \end{cases}$$

Here S is discontinuous at  $p = \frac{1}{2}$ ; consequently S is not nonexpansive mapping. Now we prove that S is mean nonexpansive mapping.

**Case I**: If  $p, q \in [0, \frac{1}{2})$ , By definition of S,

$$\begin{split} ||Sp - Sq|| &= ||\frac{p}{7} - \frac{q}{7}|| \\ &= \frac{1}{6}||\frac{6p}{7} - \frac{6q}{7}|| \\ &= \frac{1}{6}||p - \frac{q}{7} + \frac{q}{7} - \frac{p}{7} - (q - p + p - \frac{q}{7})|| \\ &\leq \frac{1}{6}||p - q|| + \frac{1}{3}||p - Sq|| + \frac{1}{6}||Sp - Sq|| \end{split}$$

This Implies that  $||Sp - Sq|| \le \frac{1}{5}||p - q|| + \frac{2}{5}||p - Sq||$ .

Case II : If  $p \in [0, \frac{1}{2})$  and  $q \in [\frac{1}{2}, 1]$ , By definition of S,

$$\begin{split} ||Sp - Sq|| &= ||\frac{p}{7} - \frac{q}{8}|| \\ &= ||\frac{p}{7} - \frac{Sp}{7} + \frac{Sp}{7} - \frac{Sq}{7} + \frac{Sq}{7} - \frac{q}{8}|| \\ &\leq \frac{1}{7}||p - Sp|| + \frac{1}{7}||Sp - Sq|| + \frac{1}{7}||q - Sq|| \\ &\leq \frac{1}{7}||p - q|| + \frac{2}{7}||p - Sq|| + \frac{2}{7}||Sp - Sq|| \end{split}$$

This Implies that  $||Sp - Sq|| \le \frac{1}{5}||p - q|| + \frac{2}{5}||p - Sq||$ .

**Case III**: If  $p \in [\frac{1}{2}, 1]$  and  $q \in [0, \frac{1}{2})$ , The proof is the same as in Case II.

**Case IV**: If  $p, q \in [\frac{1}{2}, 1]$ , The proof is the same as in Case I.

Hence, S is mean nonexpansive by taking  $a = \frac{1}{5}$ ,  $b = \frac{2}{5}$ .

**Acknowledgments.** The authors would like to thank the anonymous referee for valuable comments that have significantly improved the quality of the paper.

#### REFERENCES

- [1] Agarwal, R. P.; O'regan, D.; Sahu, D. R. Iterative construction of fixed points of nearly asymptotically nonexpansive mappings. *J. Convex Anal.* **8** (2007), no. 1, 61–79.
- [2] Ahmad, J.; Ullah, K.; Arshad, M.; Sen, M. de la. Approximation of Fixed Points for Mean Nonexpansive Mappings in Banach Spaces. *J. Funct. Spaces* (2021), Art ID 1934274, 6 pp.
- [3] Banach, S. Sur les opérations dans les ensembles abstraits etleur application aux équations intégrales. Fundamenta Mathematicae 3 (1922), 133–181.
- [4] Bin Dehaish Buthinah A.; Alharbi Rawan K. On Convergence Theorems for Generalized Alpha Nonexpansive Mappings in Banach Spaces. *J. Funct. Spaces* **2021**, Art. ID 6652741, 8pp.
- [5] Ezeora, J. N.; Izuchukwu, C.; Mebawondu, A. A.; Mewomo, O. T. Approximating common fixed points of mean nonexpansive mappings in hyperbolic spaces. *Int. J. Nonlinear Anal. Appl.* 13 (2022), no. 2, 459–471.
- [6] Goebel, K.; Kirk, W. A. Topic in metric fixed point theory. Cambridge University Press, 1990.
- [7] Gursoy, F.; Karakaya, V. A Picard-S hybrid type iteration method for solving a differential equation with retarded argument. arXiv:1403.2546 v2 2014.
- [8] Gu, C. Z. Ishikawa iterative for mean nonexpansive mappings in uniformly convex Banach spaces. *Journal of Guangzhou Economic Management College* (2006), No. 1, 86–88.
- [9] Kosol, S. Weak and Strong Convergence Theorems of Some Iterative Methods for Common Fixed Points of Berinde Nonexpansive Mappings in Banach Spaces. *Thai J. Math.* **15** (2017), no. 3, 629–639.
- [10] Mann, W. R. Mean value methods in iteration. Proc. Am. Math. Soc. 1953, 506-510.
- [11] Nakprasit, K. Mean nonexpansive mappings and Suzuki-generalized nonexpansive mappings. *J. Nonlinear Anal. Optim.* 1 (2010), no. 1, 93–96.
- [12] Opial Z. Weak convergence of the sequence of successive approximations for nonexpansive mappings. Bull. Amer. Math. Soc. 73 (1967), no. 4, 591–598.
- [13] Schu, J. Weak and strong convergence to fixed points of asymptotically nonexpansive mappings. Bull. Aust. Math. Soc. 43 (1991), no. 1, 153–159.
- [14] Senter, H. F.; Dotson W. G. Approximating fixed points of nonexpansive mappings. *Proc. Amer. Math. Soc.* 44 (1974), no. 2, 375–380.
- [15] Thakur, B. S.; Thakur, D.; Postolache, M. A new iterative scheme for numerical reckoning fixed points of suzuki's generalized nonexpansive mappings. App. math. Comp. 275 (2016), 147-155.
- [16] Ullah, K.; Arshad, M. Numerical Reckoning Fixed Point for Suzukis Generalized Nonexpansive Mappings via New Iteration Process. Filomat (2018), 187–196.
- [17] Wu, C. X.; Zhang, L. J. Fixed points for mean nonexpansive mappings. *Acta Math. Appl. Sin.* 23, (2007) no. 3, 489–494.
- [18] Yang, Y. S.; Cui, Y. A. Viscosity approximation methods for mean non-expansive mappings in Banach spaces. Appl. Math. Sci. 2 (2008), no. 13, 627–638.
- [19] Yao, Y.; Qin, X.; Yao, J. C. Projection methods for firmly type nonexpansive operators. J. Nonlinear Convex Anal. 19 (2018), 407–415.

- [20] Zhang, S. S. About fixed point theory for mean nonexpansive mapping in Banach spaces. *J. Sichuan Univ.* **2** (1975), 67–78.
- [21] Zuo, Z. Fixed-Point Theorems for Mean Nonexpansive Mappings in Banach Spaces. *Abstr. Appl. Anal.* (2014), Art. ID 746291, 6 pp.

 $^1\mathrm{Babu}$  Pandhri Rao Kridatt Govt. College Silouti, Dhamtri

Email address: om2261995@vahoo.com

 $^{2,3}$  Govt. J. Y. Chhattisgarh College Raipur

Email address: amitabh\_61@yahoo.com
Email address: niyati.kuhu@gmail.com